
Previous Year Topic-wise
SSC CGL 2022
Smart Practice Question Series

GENERAL INTELLIGENCE AND REASONING
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Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

13 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

1. Select the option that is related to the fifth number in the same way as the second number is 
related to the first number and the fourth number is related to the third number.
6 : 12 :: 9 : 21 :: 3 : ?
A. 3
B. 7
C. 5
D. 8



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

1 Dec, 2022 
Shift 1 (9am-10am)

2. Select the option that is related to the third word in the same way as the second word is 
related to the first word. (The words must be considered as meaningful English words 
and must not be related to each other based on the number of letters/number of 
consonants/vowels in the word.) Library : Books :: Museum : ?
A. Building
B. Artefacts
C. People
D. Gallery



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

1 Dec, 2022 
Shift 1 (9am-10 am)

3. Select the set in which the numbers are related in the same way as are the numbers of 
the following set.
(NOTE: Operations should be performed on the whole numbers, without breaking 

down the numbers into its constituent digits.)
(3, 14, 1)
(4, 36, 2)
A. (8, 12, 2)
B. (5, 81, 4)
C. (7, 40, 3)
D. (8, 260, 2)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

1 Dec, 2022 
Shift 1 (9am-10 am)

4. Select the option that is related to the third word in the same way as the second word is 
related to the first word. (The words must be considered as meaningful English words 
and must not be related to each other based on the number of letters/number of 
consonants/vowels in the word) Phone : Talk :: Television : ?
A. Remote
B. View
C. Read
D. Channe



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

1 Dec, 2022 
Shift 1 (9am-10 am)

5. Select the option that is related to the fifth number in the same way as the second 
number is related to the first number and the fourth number is related to the third 
number.
19 : 324 :: 25 : 576 :: 9 : ?
A. 16
B. 64
C. 88
D. 72



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

1 Dec, 2022 
Shift 1 (9am-10 am)

6. Select the set in which the numbers are related in the same way as are the numbers of 
the following sets.
(NOTE : Operations should be performed on the whole numbers, without breaking 

down the numbers into its constituent digits.
E.g. 13 - Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be 

performed. Breaking down 13 into 1 and 3 and then performing mathematical  
perations on 1 and 3 is not allowed)

(20, 6, 4)
(24, 7, 5)
A. (65, 9, 4)
B. (22, 5, 2)
C. (40, 8, 5)
D. (42, 7, 3)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

1 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

7. Select the option that is related to the fifth letter-cluster in the same way as the second 
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related to 
the third letter-cluster.
GAVE : AGEV :: KEPT : EKTP :: ACID : ?
A. CIAD
B. CAID
C. ACDI
D. CADI



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

1 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

8. Select the option that is related to the fifth letter-cluster in the same way as the second 
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related to 
the third letter-cluster.
JUMPED : LWORGF :: QUICKS : SWKEMU :: FUZING : ?
A. HKWIPB
B. IPKBWH
C. HWBKPI
D. HWKBPI



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

1 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

9. Select the option that is related to the fifth letter-cluster in the same way as the second 
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related to 
the third letter-cluster.
JUMPED : LWORGF :: QUICKS : SWKEMU :: FUZING : ?
A. HKWIPB
B. IPKBWH
C. HWBKPI
D. HWKBPI



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

1 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

10. Select the option that is related to the fourth term in the same way as the first term is 
related to the second term and the fifth term is related to the sixth term.
35 : 21 :: ? : 36 :: 40 : 24
A. 65
B. 50
C. 60
D. 55



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

1 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

11. Select the option that is related to the fifth letter-cluster in the same way as the 
second letter-cluster is related to the first letter-cluster and the fourth letter-cluster is 
related to the third letter-cluster. 
ROSE : IVQS :: SUIT : XLWT :: TIME : ? 
A. IPKU
B. IPKV
C. JPKU
D. JPKV



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

1 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

12. Select the option that is related to the third word in the same way as the second word 
is related to the first word. (The words must be considered as meaningful English 
words and must not be related to each other based on the number of letters/number 
of consonants/vowels in the word) Earth : Planet :: Moon : ?
A. Rocket
B. Space
C. Satellite
D. Orbit



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

1 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

13. Select the option that is related to the third number in the same way as the second 
number is related to the first number and the sixth number is related to the fifth 
number. 37 : 100 :: 24 : ? :: 29 : 76
A. 64
B. 61
C. 75
D. 70



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

1 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

14. Select the option that is related to the third term in the same way as the second term is 
related to the first term and the sixth term is related to the fifth term. 
24 : 840 :: 27 : ? :: 33 : 1452
A. A 756
B. B 297
C. C 1026
D. D 729



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

1 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

15. Select the option that is related to the fifth letter-cluster in the same way as the second 
letter-cluster is related to the first lettercluster and the fourth letter-cluster is related to the 
third letter-cluster.
BEAR : DFCS :: FEEL : HFGM :: MANY : ?
A. OBPY
B. OCPZ
C. OBPZ
D. OBQZ



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

1 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

16. Select the set in which the numbers are related in the same way as are the numbers of the 
following set. 
(NOTE: Operations should be performed on the whole numbers, without breaking down 
the numbers into its constituent digits.
E.g., 13 - Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be 
performed. Breaking down 13 into 1 and 3 and then performing mathematical operations 
on 1 and 3 is NOT allowed).
(16, 7, 37)
(28, 9, 55)
A. (19, 6, 36)
B. (13, 4, 25)
C. (20, 7, 45)
D. (23, 8, 48)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

1 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

17. Select the option that is related to the fifth letter-cluster in the same way as the second 
letter-cluster is related to the first lettercluster and the fourth letter-cluster is related to the 
third letter-cluster.
LAMB : DPEQ :: MOTH : JWSR :: NERD : ?
A. FVJS
B. FUJS
C. FVIS
D. FUIS



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

1 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

18. Select the option that is related to the fifth letter-cluster in the same way as the second 
letter-cluster is related to the first lettercluster and the fourth letter-cluster is related to the 
third letter-cluster.
BEAR : DFCS :: FEEL : HFGM :: MANY : ?
A. OBPY
B. OCPZ
C. OBPZ
D. OBQZ



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

2 Dec, 2022 
Shift 1 (9am - 

10pm)

19. Select the option that is related to the fifth letter-cluster in the same way as the second letter-
cluster is related to the first letter-cluster and the fourth letter-cluster is related to the third letter-
cluster.
HERO : JGPM :: FLOW : HNMU :: DIAL : ?
A. FLIJ
B. FKYJ
C. JFYK
D. KYFJ



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

2 Dec, 2022 
Shift 1 (9am - 

10pm)

20. Select the set in which the numbers are related in the same way as are the numbers of the 
following sets. 
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not 
allowed)
(4, 13, 5)
(3, 12, 6)
A. (5, 17, 6)
B. (4, 10, 3)
C. (7, 16, 3)
D. (5, 17, 7)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

2 Dec, 2022 
Shift 1 (9am - 

10pm)

21. Select the set in which the numbers are related in the same way as are the numbers of the 
following set.
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.)
(4, 25, 6)
(8, 25, 3)
A. (14, 55, 4)
B. (7, 22, 3)
C. (3, 81, 6)
D. (12, 96, 8)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

2 Dec, 2022 
Shift 1 (9am - 

10pm)

22. Select the option that is related to the fifth number in the same way as the second number is 
related to the first number and the fourth number is related to the third number.
10 : 45 :: 6 : 25 :: 9 : ?
A. 40
B. 38
C. 36
D. 42



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

2 Dec, 2022 
Shift 1 (9am - 

10pm)

23. Select the option that is related to the third term in the same way as the second of the term is 
related to the first term. (The words are to be treated as meaningful English/Hindi words and 
should not be linked on the basis of number of alphabets/number of consonants/number of 
vowels in these words.)
Panda : Bamboo :: Koala : ?
A. Fish
B. Grass
C. Bark
D. Eucalyptus



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

2 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

24. Three of the following letter-clusters are alike in some manner and hence form a group. Which 
letter-cluster does NOT belong to that group?
A. EVS
B. IRP
C. VEB
D. GTQ



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

2 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

25. Select the option that is related to the fifth letter-cluster in the same way as the second letter-
cluster is related to the first letter-cluster and the fourth letter-cluster is related to the third letter-
cluster. CONTROL : NOCTRLO :: MISTAKE : SIMTAEK :: JOURNAL : ?
A. AOUNRJL
B. OJRLAUN
C. JRNAOUL
D. UOJRNLA



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

2 Dec, 2022 
Shift 2 (11 am - 12:45 

pm)

26. Select the set in which the numbers are related in the same way as are the numbers of the 
following sets.
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.
E.g. 13 - Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3
and then performing mathematical operations on 1 and 3 is not allowed)
(15, 9, 4)
(7, 2, 3)
A. (21, 12, 6)
B. (19, 13, 4)
C. (24, 9, 11)
D. (18, 7, 7)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

2 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

27. Select the option that is related to the third term in the same way as the second term is related to 
the first term and the sixth term is related to the fifth term.
21 : 196 :: 29 : ? :: 38 : 315
A. 319
B. 252
C. 203
D. 841



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

2 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

28. Select the set in which the numbers are related in the same way as are the numbers of the 
following set.
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.
E.g., 13 - Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3
and then performing mathematical operations on 1 and 3 is NOT allowed).
(25, 9, 56)
(13, 14, 183)
A. (27, 15, 198)
B. (42, 12, 228)
C. (19, 23, 511)
D. (11, 16, 135)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

2 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

29. Select the set in which the numbers are related in the same way as are the numbers of the 
following sets.
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3
and then performing mathematical operations on 1 and 3 is NOT allowed)
(30, 93, 1)
(42, 132, 2)
A. (4,60,5)
B. (5,31,29)
C. (14,20,25)
D. (3,30,7)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

2 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

30. Select the word-pair that best represents a similar relationship to the one expressed in the pair of 
words given below.  
(The words must be considered as meaningful English words and must not be related to each 
other based on the number of letters/number of consonants/vowels in the word.)
Sparrows : Tree
A. Fish : Water
B. Owl : Night
C. Cow : Beach
D. Rabbit : Sand



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

2 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

31. Select the option that is related to the third word in the same way as the second word is related to 
the first word.  
(The words must be considered as meaningful English words and must not be related to each 
other based on the number of letters/number of consonants/vowels in the word.)
Cloth : Closet :: Gun : ?
A. Bullet
B. Armoury
C. Almirah
D. Chest



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

2 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

32. Select the option that is related to the fourth term in the same way as the first term is related to 
the second term and the fifth term is related to the sixth term.
8 : 496 :: ? : 204 :: 9 : 711
A. 6
B. 5
C. 11
D. 13



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

2 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

33. Select the option that is related to the third word in the same way as the second word is related to 
the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word) 
Knife : Cut :: Ladle : ?
A. Slice
B. Spread
C. Serve
D. Chop



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

2 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

34. Select the word-pair that best represents a similar relationship to the one expressed in the given 
pair of words. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word) 
Hen : Coop
A. Bee : Hive
B. Cow : Hay
C. Horse : Field
D. Elephant : Leaves



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

2 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

35. Select the option that is related to the third number in the same way as the second number is 
related to the first number and the sixth number is related to the fifth number. 687 : 612 :: 713 : ? :: 
621 : 546
A. 662
B. 638
C. 674
D. 656



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

2 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

36. Select the set in which the numbers are related in the same way as are the numbers of the 
following set. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.)
(3, 2, 35) (1, 4, 65)
A. (3, 2, 31)
B. (7, 2, 351)
C. (5, 4, 41)
D. (6, 8, 224)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

2 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

37. Select the option that is related to the third word in the same way as the second word is related to 
the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word) 
Knife : Cut :: Ladle : ?
A. Slice
B. Spread
C. Serve
D. Chop



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

3 Dec, 2022 
Shift 1 (9am-10am)

38. Select the set in which the numbers are related in the same way as are the numbers of the 
following set. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.)
(36, 90, 18)
(15, 35, 8)
A. (14, 45, 5)
B. (14, 42, 7)
C. (13, 78, 6)
D. (12, 60, 8)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

3 Dec, 2022 
Shift 1 (9am-10am)

39. Select the option that is related to the fifth letter-cluster in the same way as the second letter-
cluster is related to the first letter-cluster and the fourth letter-cluster is related to the third letter-
cluster.
ROAR : QZNQ :: HEAR : QZDG :: DAMP : ?
A. MPAD
B. OLZC
C. BCOA
D. PMAD



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

3 Dec, 2022 
Shift 1 (9am-10am)

40. Select the set in which the numbers are related in the same way as are the numbers of the 
following set. 
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13 - Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed)
(452, 50, 63)
(260, 35, 30)
A. (330, 30, 45)
B. (260, 30, 25)
C. (260, 50, 15)
D. (230, 15, 45)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

3 Dec, 2022 
Shift 1 (9am-10am)

41. Select the set in which the numbers are related in the same way as are the numbers of the 
following sets.
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be 
performed. Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 
and 3 is NOT allowed)
(12, 42, 7)
(13, 52, 8)
A. (8, 7, 43)
B. (7, 12, 6)
C. (9, 26, 8)
D. (9, 18, 4)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

3 Dec, 2022 
Shift 1 (9am-10am)

42. Select the option that is related to the fifth letter-cluster in the same way as the second letter-
cluster is related to the first letter-cluster and the fourth letter-cluster is related to the third letter-
cluster.
WINDOW : XFOELX :: TICKET : UFDLBU :: REGION : ?
A. SBHFLO
B. SHFKLO
C. BHFDLO
D. HFSOKL



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

3 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

43. Select the option that is related to the fifth letter-cluster in the same way as the second letter-
cluster is related to the first lettercluster and the fourth letter-cluster is related to the third letter-
cluster.
COOK : DQPM :: DOWN : EQXP :: ONLY : ?
A. PQMA
B. PPMA
C. PQMB
D. PPMB



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

3 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

44. Select the option that is related to the third term in the same way as the second term is related 
to the first term and the sixth term is related to the fifth term.
11 : 94 :: 23 : ? :: 18 : 150
A. 129
B. 190
C. 199
D. 109



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

3 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

45. Select the set in which the numbers are related in the same way as are the numbers of the 
following set.
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.
E.g., 13 - Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be 
performed. Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 
and 3 is NOT allowed).
(0.20, 5, 25)
(0.083, 12, 144)
A. (0.143, 6, 36)
B. (0.063, 16, 256)
C. (0.056, 18, 289)
D. (0.240, 4, 16)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

3 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

46. Select the option that is related to the third term in the same way as the second term is related 
to the first term and the sixth term is related to the fifth term.
25 : 264 :: 31 : ? :: 49 : 456
A. 961
B. 314
C. 312
D. 297



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

3 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

47. Select the option that is related to the fifth letter-cluster in the same way as the second letter-
cluster is related to the first lettercluster and the fourth letter-cluster is related to the third letter-
cluster.
COOK : DQPM :: DOWN : EQXP :: ONLY : ?
A. PQMA
B. PPMA
C. PQMB
D. PPMB



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

3 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

48. Select the option that is related to the fifth letter-cluster in the same way as the second letter-
cluster is related to the first lettercluster and the fourth letter-cluster is related to the third letter-
cluster.
COOK : DQPM :: DOWN : EQXP :: ONLY : ?
A. PQMA
B. PPMA
C. PQMB
D. PPMB



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

3 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

49. Select the option that is related to the fifth letter-cluster in the same way as the second letter-
cluster is related to the first lettercluster and the fourth letter-cluster is related to the third letter-
cluster.
COOK : DQPM :: DOWN : EQXP :: ONLY : ?
A. PQMA
B. PPMA
C. PQMB
D. PPMB



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

3 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

50. Select the set in which the numbers are related in the same way as are the numbers of the 
following set.
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into their constituent digits. E.g. 13 - Operations on 13 such as adding / subtracting / 
multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3 and then performing 
mathematical operations on 1 and 3 is not allowed.)
(6, 22, 14)
(8, 30, 19)
A. (12, 46, 27)
B. (4, 18, 11)
C. (7, 26, 17)
D. (9, 34, 22)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

3 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

51. Select the set in which the numbers are related in the same way as are the numbers of the 
following sets.
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed) (63, 81, 7)
(84, 49, 12)
A. (99, 121, 9)
B. (76, 234, 12)
C. (12, 125, 56)
D. (78, 14, 56)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

3 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

52. Select the set in which the numbers are NOT related in the same way as are the numbers of the 
given set.
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.
E.g. 13 - Operations on 13 such as adding / substracting / multiplying etc. to 13 can be 
performed. Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 
and 3 is not allowed)
(22, 9, 198)
A. (19, 7, 133)
B. (26, 5, 130)
C. (28, 7, 196)
D. (17, 9, 157)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

3 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

53. Select the option that is related to the third word in the same way as the second word is related to 
the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word.)
Bee : Beehive :: Dog : ?
A. Kennel
B. Stable
C. Pen
D. Shed



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

3 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

54. Select the word-pair that best represents a similar relationship to the one expressed in the given 
pair of words. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word)
Tailor : Sewing machine
A. Electrician : Expensive
B. Farmer : Plants
C. Scissors : Hair
D. Police : Handcuffs



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

3 Dec, 2022 
Shift 1 (9am-10am)

55. Select the set in which the numbers are related in the same way as are the numbers of the 
following sets.
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.
E.g. 13 - Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not 
allowed)
(70, 14, 56)
(88, 30, 58)
A. (44, 24, 23)
B. (59, 36, 25)
C. (52, 19, 33)
D. (38, 16, 24)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

5 Dec, 2022 
Shift 1 (9am-10am)

56. Select the option that is related to the third number in the same way as the second number is 
related to the first number and the sixth number is related to the fifth number.
8 : 128 :: 6 : ? :: 11 : 242
A. 64
B. 72
C. 68
D. 70



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

5 Dec, 2022 
Shift 1 (9am-10am)

57. Select the option that is related to the third word in the same way as the second word is related 
to the first word.
(The words must be considered as meaningful English words and must not be related to each 
other based on the number of letters/number of consonants/vowels in the word.) Movie : 
Director :: Orchestra : ?
A. Choreographer
B. Conductor
C. Dancer
D. Audience



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

5 Dec, 2022 
Shift 1 (9am-10am)

58. In the following question, four number pairs are given. In each pair the number on left side of (-) 
is related to the number of the right side of (-) with some Logic/Rule/Relation. Three pairs are 
similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. E.g.13 - Operations on 13 such as adding /subtracting /
multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3 and then performing 
mathematical operations on 1 and 3 is not allowed)
A. 17 - 31
B. 13 - 25
C. 15 - 27
D. 9 - 15



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

5 Dec, 2022 
Shift 1 (9am-10am)

59. Select the option that is related to the fifth letter-cluster in the same way as the second letter-
cluster is related to the first lettercluster and the fourth letter-cluster is related to the third letter-
cluster.
GAIN : HBKP :: ACHE : BDJG :: CAKE : ?
A. DBNH
B. DBMH
C. DBNG
D. DBMG



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

5 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

60. Select the option that is related to the fifth letter-cluster in the same way as the second letter-
cluster is related to the first letter-cluster and the fourth letter-cluster is related to the third letter-
cluster.
CAST : DCVX :: BUSH : CWVL :: ARMY : ?
A. PTCB
B. CTBP
C. TBPC
D. BTPC



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

5 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

61. Three of the following letter-clusters are alike in some manner and hence form a group. Which 
letter-cluster does not belong to that group?
A. AMRW
B. XFIK
C. PBGL
D. KWBG



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

5 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

62. Select the option that is related to the fourth term in the same way as the first term is related to 
the second term and the fifth term is related to the sixth term.
11 : 91 :: ? : 154 :: 15 : 127
A. 16
B. 18
C. 14
D. 24



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

5 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

63. Select the set in which the numbers are related in the same way as are the numbers of the given 
set.
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not 
allowed.)
(23, 161, 207)
(47, 329, 423)
A. (64, 448, 576)
B. (84, 442, 570)
C. (29, 112, 782)
D. (33, 97, 297)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

5 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

64. Select the option that is related to the third word in the same way as the second word is related to 
the first word.
(The words must be considered as meaningful English words and must not be related to each 
other based on the number of letters/number of consonants/vowels in the word.) Lens : Camera :: 
Cartridge : ?
A. Printer
B. Ink
C. Paper
D. Computer



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

5 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

65. In the following question, four number pairs are given. In each pair the number on left side of (-) is 
related to the number of the right side of (-) with some Logic/Rule/Relation. Three pairs are similar 
on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. E.g.13 - Operations on 13 such as adding /subtracting /
multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3 and then performing 
mathematical operations on 1 and 3 is not allowed)
A. 12 - 145
B. 16 - 257
C. 14 - 193
D. 10 -101



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

5 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

66. Select the option that is related to the fifth number in the same way as the second number is 
related to the first number and the fourth number is related to the third number.
6 : 125 :: 2 : 1 :: 5 : ?
A. 81
B. 64
C. 68
D. 72



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

5 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

67. Select the set in which the numbers are related in the same way as are the numbers of the 
following set.
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.)
(5, 41, 4)
(2, 68, 8)
A. (6, 100, 8)
B. (5, 18, 4)
C. (5, 100, 4)
D. (4, 49, 3)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

5 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

68. Select the option that is related to the third word in the same way as the second word is related to 
the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word.) 
Ant : Antling :: Deer : ?
A. Pup
B. Fawn
C. Cub
D. Foal



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

5 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

69. Select the option that is related to the third word in the same way as the second word is related to 
the first word.
(The words must be considered as meaningful English words and must not be related to each 
other based on the number of letters/number of consonants/vowels in the word.) Rice : Grain :: 
Lentils : ?
A. Pulses
B. Sprouts
C. Cereal
D. Starch



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

6 Dec, 2022 
Shift 1 (9am-10am)

70. Select the set in which the numbers are related in the same way as are the numbers of the 
following set.
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.)
(2, 8, 36)
(4, 9, 25)
A. (14, 18, 9)
B. (13, 20, 49)
C. (21, 15, 35)
D. (12, 14, 26)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

6 Dec, 2022 
Shift 1 (9am-10am)

71. Select the word-pair that best represents a similar relationship to the one expressed in the given 
pair of words.
(The words must be considered as meaningful English words and must not be related to each 
other based on the number of letters/number of consonants/vowels in the word)
Police : Protection
A. Minister : Governance
B. Thief : Jail
C. King : Kingdom
D. Teacher : Class



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

6 Dec, 2022 
Shift 1 (9am-10am)

72. Select the option that is related to the fifth letter-cluster in the same way as the second letter-
cluster is related to the first letter-cluster and the fourth letter-cluster is related to the third letter-
cluster. LEISURE : USIELER :: INTENSE : NETNIES :: EXCITED : ?
A. CTEDEXI
B. TICXEDE
C. EXEDTCI
D. XEDETCI



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

6 Dec, 2022 
Shift 1 (9am-10am)

73. Select the set in which the numbers are related in the same way as are the numbers of the 
following sets:
(7,11, 72)
(5, 8, 39)
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed)
A. (4, 7, 33)
B. (2, 3, 1)
C. (5, 2, 23)
D. (5, 6, 13)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

6 Dec, 2022 
Shift 1 (9am-10am)

74. Select the set in which the numbers are NOT related in the same way as are the numbers of the 
given set.
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not 
allowed)
(267, 128, 139)
A. (267, 132, 135)
B. (325, 112, 215)
C. (365, 154, 211)
D. (297, 146, 151)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

6 Dec, 2022 
Shift 1 (9am-10am)

75. In the following question, four number pairs are given. In each pair the number on left side of (-) is 
related to the number of the right side of (-) with some Logic/Rule/Relation. Three pairs are similar 
on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. E.g.13 - Operations on 13 such as adding /subtracting /
multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3 and then performing 
mathematical operations on 1 and 3 is not allowed)
A. 15 - 220
B. 9 - 84
C. 13 - 172
D. 11 - 124



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

6 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

76. Select the option that is related to the third word in the same way as the second word is related to 
the first word.
(The words must be considered as meaningful English words and must not be related to each 
other based on the number of letters/number of consonants/vowels in the word.) Octagon : 
Eight :: Heptagon : ?
A. Ten
B. Six
C. Nine
D. Seven



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

6 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

77. Select the set in which the numbers are related in the same way as are the numbers of the 
following set.
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.)
(2, 125, 3)
(1, 64, 3)
A. (2, 100, 8)
B. (5, 512, 3)
C. (12, 50, 13)
D. (4, 341, 3)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

6 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

78. Select the option that is related to the fourth term in the same way as the first term is related to 
the second term and the fifth term is related to the sixth term.
10 : 45 :: ? : 28 :: 11 : 55
A. 9
B. 8
C. 12
D. 10



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

6 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

79. Three of the following letter-clusters are alike in some manner and hence form a group. Which 
letter-cluster does not belong to that group?
A. MNG
B. STM
C. ABU
D. HED



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

6 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

80. Select the option that is related to the third word in the same way as the second word is related to 
the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word.) 
Dog : Bitch :: Stallion : ?
A. Doe
B. Mare
C. Goose
D. Vixen



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

6 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

81. Select the option that is related to the fifth number in the same way as the second number is 
related to the first number and the fourth number is related to the third number.
7 : 13 :: 16 : 31 :: 46 : ?
A. 81
B. 83
C. 91
D. 97



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

6 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

82. Select the option that is related to the third word in the same way as the second word is related to 
the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word) 
Plants : Botanist :: Animals : ?
A. Chemists
B. Geologists
C. Archaeologists
D. Zoologists



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

6 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

83. Select the set in which the numbers are related in the same way as are the numbers of the 
following sets.  
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed)
(7, 4, 56)
(8, 3, 48)
A. (90, 3, 400)
B. (87, 4, 128)
C. (96, 42, 12)
D. (9, 10, 180)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

6 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

84. Select the set in which the numbers are related in the same way as are the numbers of the 
following sets. 
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. E.g. 13 - Operations on 13 such as adding /subtracting /
multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3 and then performing 
mathematical operations on 1 and 3 is not allowed)
(9, 16, 5)
(7, 9, 4)
A. (14, 64, 7)
B. (14, 100, 5)
C. (11, 36, 5)
D. (12, 66, 4)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

6 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

85. Three of the following letter-clusters are alike in some manner and hence form a group. Which 
letter-cluster does not belong to that group?
A. PRKI
B. JFOQ
C. UWFD
D. XZCA



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 1 (9am-10am)

86. Select the option that is related to the fifth letter-cluster in the same way as the second letter-
cluster is related to the first letter-cluster and the fourth letter-cluster is related to the third letter-
cluster.
COMPLEX : OCXELPM :: BALANCE : ABECNAL :: AIRLINE : ?
A. IAENILR
B. RAINELI
C. ELNIIAR
D. ARLINEI



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 1 (9am-10am)

87. Select the set in which the numbers are related in the same way as are the numbers of the 
following set.  
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g., 13 - Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed).
(17, 24, 58)
(26, 37, 89)
A. (15, 17, 47)
B. (41, 39, 125)
C. (10, 20, 44)
D. (21, 38, 96)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 1 (9am-10am)

88. Select the set in which the numbers are related in the same way as are the numbers of the 
following set. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.)
(13, 39, 6)
(9, 18, 4)
A. (12, 48, 8)
B. (12, 50, 13)
C. (15, 45, 3)
D. (20, 28, 8)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 1 (9am-10am)

89. Select the word-pair that best represents a similar relationship to the one expressed in the pair of 
words given below. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word.) 
Dog : Kennel
A. Bee : Hive
B. Hare : Den
C. Lion : Burrow
D. Spider : Shed



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 2 (11:45-12:45 

pm) 

90. Three of the following letter-clusters are alike in some manner and hence form a group. Which 
letter-cluster does not belong to that group?
A. HBL
B. IJR
C. XUC
D. TYG



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

91. Select the option that is related to the third term in the same way as the second term is related to 
the first term and the sixth term is related to the fifth term.
5 : 150 :: 6 : ? :: 8 : 576
A. 252
B. 255
C. 225
D. 222



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

92. Select the set in which the numbers are related in the same way as are the numbers of the 
following set. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.)
(12, 112, 9)
(10, 84, 8)
A. (12, 149, 12)
B. (13, 55, 4)
C. (11, 99, 9)
D. (18, 94, 5)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

93. Select the word-pair that best represents a similar relationship to the one expressed in the given 
pair of words. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word) 
Thermometer : Temperature
A. Glucometer : Measure
B. Odometer : Car
C. Oximeter : Oxygen level of blood
D. Pedometer : Bone Fractures



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

94. Select the option that is related to the fifth letter-cluster in the same way as the second letter-
cluster is related to the first lettercluster and the fourth letter-cluster is related to the third letter-
cluster.
BEAR : QZDA :: DUST : SRTC :: GOLD : ?
A. CKNF
B. KCFN
C. CNFJ
D. FGNC



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

95. Select the option that is related to the third term in the same way as the second term is related to 
the first term and the sixth term is related to the fifth term.
4 : 84 :: 11 : ? :: 13 : 2379
A. 1221
B. 1463
C. 1440
D. 819



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

96. Select the set in which the numbers are related in the same way as are the numbers of the given 
set. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not 
allowed.)
(3, 13, 18)
(29, 39, 44)
A. (17, 27, 42)
B. (25, 30, 55)
C. (26, 30, 47)
D. (16, 26, 31)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

97. Select the option that is related to the third word in the same way as the second word is related to 
the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word) 
Kite : Diamond :: Ball : ?
A. Triangle
B. Square
C. Round
D. Pentagon



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

98. Select the word-pair that best represents a similar relationship to the one expressed in the given 
pair of words. 
(The words must be considered as meaningful English words and must not be related to each 
other based on the number of letters/number of consonants/vowels in the word) Money plant : 
Climber
A. Rose : Shrub
B. Peas : Green
C. Basil : Tree
D. Banyan : Roots



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

99. Select the option that is related to the third number in the same way as the second number is 
related to the first number and the sixth number is related to the fifth number.
15 : 125 :: 27 : ? :: 36 : 1728
A. 689
B. 749
C. 790
D. 729



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

100.Select the set in which the numbers are related in the same way as are the numbers of the 
following sets. 
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13 - Operations on 13 such as adding / subtracting /multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not 
allowed) 
(42, 18, 3) 
(36, 14, 4)
A. (34, 13, 4)
B. (50, 20, 4)
C. (46, 18, 4)
D. (42, 15, 5)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

101.Select the option that is related to the third number in the same way as the second number is 
related to the first number and the sixth number is related to the fifth number. 
144 : 36 :: 81 : ? :: 196 : 42
A. 30
B. 23
C. 27
D. 29



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

102.Select the option that is related to the third word in the same way as the second word is related to 
the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word.) 
Time : Second :: Electric Current : ?
A. Ampere
B. Kelvin
C. Candela
D. Mole



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

103.Select the word-pair that best represents a similar relationship to the one expressed in the given 
pair of words. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word) 
Horizonal : Vertical
A. Smart : Intelligent
B. Humid : Dry
C. Include : Involve
D. Exit : Leave



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

104.Three of the following letter-clusters are alike in some manner and hence form a group. Which 
letter-cluster does not belong to that group?
A. KPW
B. QGM
C. DIP
D. SXE



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

7 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

105.Select the set in which the numbers are related in the same way as are the numbers of the 
following set. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.)
(4, 50, 6)
(13, 128, 3)
A. (12, 60, 5)
B. (2, 125, 3)
C. (2, 62, 6)
D. (15, 162, 3)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

8 Dec, 2022 
Shift 1 (9am-10am)

106.Three of the following letter-clusters are alike in some manner and hence form a group. Which 
letter-cluster does not belong to that group?
A. LEB
B. JZF
C. TJP
D. MCI



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

8 Dec, 2022 
Shift 1 (9am-10am)

107.Select the option that is related to the third word in the same way as the second word is related to 
the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters / number of consonants / vowels in the word.) 
Lethargy : Alertness :: Gentle : ?
A. Destroy
B. Kind
C. Annoying
D. Harsh



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

8 Dec, 2022 
Shift 1 (9am-10am)

108.Select the option that is related to the third number in the same way as the second number is 
related to the first number and the sixth number is related to the fifth number.
76 : 11 :: 88 : ? :: 68 : 9
A. 12
B. 14
C. 18
D. 15



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

8 Dec, 2022 
Shift 1 (9am-10am)

109.Select the option that is related to the third word in the same way as the second word is related to 
the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word) 
Lake : Land :: Island : ?
A. Plains
B. Water
C. Hills
D. Dessert



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

8 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

110.Select the set in which the numbers are related in the same way as are the numbers of the 
following set. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.)
(60, 5, 6)
(48, 8, 3)
A. (17, 3, 4)
B. (25, 4, 6)
C. (24, 4, 3)
D. (25, 4, 3)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

8 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

111.Select the set in which the numbers are related in the same way as are the numbers of the 
following sets. 
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not 
allowed) 
(144, 9, 3) 
(225, 7, 8)
A. (168, 5, 8)
B. (64, 5, 3)
C. (81, 6, 2)
D. (120, 7, 4)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

8 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

112.Select the option that is related to the third word in the same way as the second word is related 
to the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word) 
Commence : Begin :: Doctrine : ?
A. Belief
B. Conduct
C. Duty
D. Study



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

8 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

113.Select the set in which the numbers are related in the same way as are the numbers of the 
following sets. 
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.  
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed) 
(34, 23, 12) 
(71, 37, 3)
A. (75, 50, 20)
B. (20, 65, 50)
C. (19, 55, 91)
D. (14, 12, 16)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

8 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

114.Select the word-pair that best represents a similar relationship to the one expressed in the given 
pair of words. 
(The words must be considered as meaningful English words and must not be related to each 
other based on the number of letters/number of consonants/vowels in the word) Road : Concrete
A. Water : Glass
B. Jewellery : Bangle
C. Doctor : Medicine
D. Wall : Brick



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

8 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

115.Select the set in which the numbers are related in the same way as are the numbers of the 
following set. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.) 
(2, 4, 18) 
(1, 9, 50)
A. (3, 5, 32)
B. (2, 5, 49)
C. (6, 4, 10)
D. (5, 4, 18)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

8 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

116.Select the option that is related to the third word in the same way as the second word is related to 
the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word)  
Cells : Tissue :: Organs : ?
A. Kidney
B. Lungs
C. Body
D. Heart



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

8 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

117.Select the word-pair that best represents a similar relationship to the one expressed in the pair of 
words given below. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word)
Librarian : Library
A. Sailor : Aeroplane
B. Priest : Temple
C. Watchmen : Train
D. Doctor : Treatment



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

8 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

118.Select the option that is related to the third word in the same way as the second word is related to 
the first word. 
(The words must be considered as meaningful English words and must not be related to each 
other based on the number of letters/number of consonants/vowels in the word.)
Birds : Nest :: Rabbits : ?
A. Garden
B. Burrow
C. Den
D. Cage



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

8 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

119.Select the set in which the numbers are related in the same way as are the numbers of the 
following sets. 
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed)
(4, 9, 16)
(25, 36, 49)
A. (49, 64, 81)
B. (1, 16, 49)
C. (36, 81, 49)
D. (49, 36, 81)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

8 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

120.Select the set in which the numbers are related in the same way as are the numbers of the 
following set.  
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.)
(12, 51, 5)
(8, 30, 2)
A. (14, 120, 16)
B. (13, 10, 7)
C. (19, 44, 3)
D. (11, 51, 6)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

8 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

121.Select the option that is related to the fifth letter-cluster in the same way as the second letter-
cluster is related to the first letter-cluster and the fourth letter-cluster is related to the third letter-
cluster.
BASE : EASB :: MINE : EINM :: CALM : ?
A. AMLC
B. MACL
C. AMCL
D. MALC



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

8 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

122.Select the set in which the numbers are related in the same way as are the numbers of the 
following set. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g., 13 - Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed). 
(52, 10, 41) 
(46, 18, 50)
A. (68, 26, 73)
B. (19, 33, 69)
C. (41, 17, 36)
D. (23, 18, 40)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 1 (9am-10am)

123.Select the option that is related to the third term in the same way as the second term is related to 
the first term and the sixth term is related to the fifth term.
8 : 448 :: 9 : ? :: 11 : 847
A. 576
B. 577
C. 567
D. 562



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 1 (9am-10am)

124.Select the option that is related to the third word in the same way as the second word is related to 
the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word.) 
Bull : Cow :: Gander : ?
A. Doe
B. Goose
C. Mare
D. Hen



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 1 (9am-10am)

125.Which of the following letter clusters will replace the question mark (?) and complete the following 
letter cluster series?
DW, FU, IR, NM, UF, ?
A. FV
B. GU
C. FU
D. EV



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 1 (9am-10am)

126.Select the set in which the numbers are related in the same way as are the numbers of the 
following sets. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13 - Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed)  
(19, 23, 4) 
(13, 27, 14)
A. (25, 26, 2)
B. (25, 27, 4)
C. (25, 27, 2)
D. (25, 26, 4)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 1 (9am-10am)

127.Select the word-pair that best represents a similar relationship to the one expressed in the given 
pair of words. 
(The words must be considered as meaningful English words and must not be related to each 
other based on the number of letters/number of consonants/vowels in the word) Carpenter : 
Hammer
A. Fisherman : Net
B. Butcher : Meat
C. Mechanic : Car
D. Nurse : Patient



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 2 (11:45-12:45 

pm) (11:45-12:45 
pm)

128.Select the set in which the numbers are related in the same way as are the numbers of the 
following set. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g., 13 - Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed). 
(56, 22, 26) 
(34, 20, 18)
A. (78, 54, 44)
B. (23, 8, 10)
C. (58, 16, 21)
D. (45, 12, 33)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

129.Select the option that is related to the third word in the same way as the second word is related 
to the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word)  
Dentist : Teeth :: Dermatologist : ?
A. Bones
B. Blood vessels
C. Blood
D. Skin



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

131.Select the set in which the numbers are related in the same way as are the numbers of the 
following set. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits.) 
(21, 225, 9) 
(12, 49, 2)
A. (14, 64, 2)
B. (11, 18, 7)
C. (15, 54, 3)
D. (13, 81, 6)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

131.Three of the following letter-clusters are alike in some manner and hence form a group. Which 
letter-cluster does not belong to that group?
A. MKOJ
B. URWQ
C. EQGP
D. XFWE



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

132.Select the option that is related to the third word in the same way as the second word is related 
to the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word.) 
Horse : Stable :: Hen : ?
A. Farm
B. Pen
C. Coop
D. Shed



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

133.Select the set in which the numbers are related in the same way as are the numbers of the 
following sets. 
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed)
(76, 75, 1)
(90, 87, 9)
A. (100, 85, 125)
B. (56, 48, 64)
C. (16, 4, 57)
D. (87, 56, 900)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

134.Select the option that is related to the fourth term in the same way as the first term is related to 
the second term and the fifth term is related to the sixth term.
7 : 330 :: ? : 203 :: 9 : 716
A. 14
B. 16
C. 6
D. 4



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

135.Select the option that is related to the third word in the same way as the second word is related to 
the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word)
Milk : Litre :: Sugar : ?
A. Hectare
B. Kilometer
C. Metre
D. Kilogram



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

136.Select the word-pair that best represents a similar relationship to the one expressed in the given 
pair of words. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word)
Length : Metre
A. Electric current : Ampere
B. Mass : Heavy
C. Temperature : Hot
D. Volume : Light



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

137.Select the set in which the numbers are related in the same way as are the numbers of the 
following set. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g., 13 - Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed).
(56, 6, 34)
(102, 27, 78)
A. (79, 51, 103)
B. (76, 34, 72)
C. (63, 23, 55)
D. (52, 22, 38)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 3 (2:30-3:30 

pm)

138.Select the option that is related to the third term in the same way as the second term is related to 
the first term and the sixth term is related to the fifth term.
27 : 713 :: 32 : ? :: 35 : 1209
A. 1024
B. 1100
C. 1105
D. 1008



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

139.Select the set in which the numbers are related in the same way as are the numbers of the 
following set. 
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13 - Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed)  
(21, 33, 31) 
(42, 17, 26)
A. (36, 14, 35)
B. (46, 19, 24)
C. (35, 27, 29)
D. (32, 39, 20)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

140.Select the option that is related to the third word in the same way as the second word is related 
to the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word) 
Pain : Agony :: Anger: ?
A. Calm
B. Rage
C. Sad
D. Peace



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

141.Select the option that is related to the third word in the same way as the second word is related 
to the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word.)
Paint : Art :: Prose : ?
A. Music
B. Literature
C. Drama
D. Theatre



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

142.Select the set in which the numbers are related in the same way as are the numbers of the 
following set.  
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed)
(4, 21, 33)
(10, 111, 141)
A. (13, 45, 97)
B. (25, 53, 128)
C. (65, 60, 244)
D. (24, 52, 128)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

143.Three of the following letter-clusters are alike in some manner and hence form a group. Which 
letter-cluster does not belong to that group?
A. DOL
B. MIP
C. ARI
D. NEV



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

9 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

144.Select the option that is related to the fifth number in the same way as the second number is 
related to the first number and the fourth number is related to the third number.
12 : 132 :: 20 : 380 :: 2 : ?
A. 8
B. 6
C. 12
D. 2



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

12 Dec, 2022 
Shift 1 (9am-10am)

145.Select the word-pair that best represents a similar relationship to the one expressed in the pair of 
words given below. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word.) 
Cattle : Herd
A. Player : Class
B. Sailors : Crew
C. Pupils : Team
D. Soldiers : Colony



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

12 Dec, 2022 
Shift 1 (9am-10am)

146.Select the option that is related to thefi fth number in the same way as the second number is 
related to the first number and the fourth number is related to the third number.
4 : 61 :: 9 : 726 :: 6 : ?
A. 356
B. 213
C. 242
D. 316



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

12 Dec, 2022 
Shift 1 (9am-10am)

147.Select the option that is related to the third word in the same way as the second word is related to 
the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word) 
Solids : Freeze :: Gases : ?
A. Evaporates
B. Freezes
C. Smells
D. Melts



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

12 Dec, 2022 
Shift 1 (9am-10am)

148.Select the set in which the numbers are related in the same way as are the numbers of the 
following set. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13- Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed) 
(17, 59, 625) 
(8, 44, 784)
A. (22, 78, 784)
B. (18, 74, 1296)
C. (12, 69, 2025)
D. (24, 70, 576)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

12 Dec, 2022 
Shift 1 (9am-10am)

150.Select the set in which the numbers are related in the same way as are the numbers of the given 
set.  
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13- Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not 
allowed.) 
(5, 98, 9) 
(10, 168, 14)
A. (7, 108, 23)
B. (15, 248, 19)
C. (1, 28, 3)
D. (3, 88, 17)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

12 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

151.Select the option that is related to the fifth letter-cluster in the same way as the second letter-
cluster is related to the first letter-cluster and the fourth letter-cluster is related to the third letter-
cluster.
WITNESS : SSENTIW :: SILENCE : ECNELIS :: PROTECT : ?
A. PROCETT
B. TCETORP
C. CETPROT
D. RPOTCET



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

12 Dec, 2022 
Shift 2 (11:45-12:45 

pm)

151.Select the set in which the numbers are NOT related in the same way as are the numbers of the 
given set. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not 
allowed) 
(168, 122, 290)
A. (198, 112, 310)
B. (226, 148, 374)
C. (236, 118, 356)
D. (126, 132, 258)
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152.Select the word-pair that best represents a similar relationship to the one expressed in the pair of 
words given below. (The words must be considered as meaningful English words and must not 
be related to each other based on the number of letters/number of consonants/vowels in the 
word.)
Lion : Roar
A. Hen : Crow
B. Owl : Bleat
C. Horse : Neigh
D. Goat : Hoot
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153.Select the set in which the numbers are related in the same way as are the numbers of the 
following sets. 
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13 - Operations on 13 such as adding /deleting /multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed) 
(8, 540, 60) 
(9, 70, 7)
A. (12, 56, 60)
B. (8, 63, 7)
C. (9, 54, 12)
D. (9, 45, 7)
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154.Select the option that is related to the third term in the same way as the second term is related to 
the first term and the sixth term is related to the fifth term.
14 : 400 :: 37 : ? :: 42 : 2304
A. 1333
B. 1764
C. 1849
D. 1521
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155.Select the option that is related to the third number in the same way as the second number is 
related to the first number and the sixth number is related to the fifth number.
16: 20 :: 256 : ? :: 49 : 56
A. 272
B. 266
C. 264
D. 278
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156.Select the set in which the numbers are related in the same way as are the numbers of the 
following sets. 
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13 - Operations on 13 such as adding/ subtracting/ multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not 
allowed)
(2, 4, 20)
(4, 5, 41)
A. (5, 3, 32)
B. (9, 2, 86)
C. (7, 3, 59)
D. (4, 3, 25)
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157.Select the set in which the numbers are related in the same way as are the numbers of the 
following sets. 
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13 - Operations on 13 such as adding/ subtracting/ multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed) 
(76, 4, 19) 
(98, 2, 49)
A. (84, 12, 4)
B. (88, 2, 22)
C. (99, 3, 66)
D. (72, 4, 18)
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158.Select the option that is related to the third word in the same way as the second word is related to 
the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters / number of consonants / vowels in the 
word.) 
Trembling: Fear:: Sigh:?
A. Anger
B. Pain
C. Hope
D. Relief
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159.Select the option that is related to the third word in the same way as the second word is related to 
the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word)
Telescope : Distant Objects:: Microscope:?
A. Tiny Objects
B. Big Objects
C. Very Large Objects
D. Heavy Objects



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

13 Dec, 2022 
Shift 1

160.Select the word-pair that best represents a similar relationship to the one expressed in the given 
pair of words. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word) 
Rice : Carbohydrates
A. Orange : Fruit
B. Cottage cheese : Protein
C. Flesh : Chicken
D. Eggplant : Vegetable
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161.Select the option that is related to the fifth letter-cluster in the same way as the second letter-
cluster is related to the first lettercluster and the fourth letter-cluster is related to the third letter-
cluster.
ACCUSED : UCCASDE :: FACTORY : TCAFOYR :: DYNAMIC : ?
A. YNMICAD
B. DNYMACI
C. ANYDMCI
D. DANYMIC
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162.Select the option that is related to the fifth number in the same way as the second number is 
related to the first number and the fourth number is related to the third number.
68 : 19 :: 76 : 21 :: 164 : ?
A. 39
B. 41
C. 43
D. 45
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163.Select the set in which the numbers are related in the same way as are the numbers of the 
following set. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g., 13 - Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed). 
(16, 7, 81) 
(24, 16, 64)
A. (37, 25, 100)
B. (48, 39, 18)
C. (13, 7, 36)
D. (21, 19, 8)
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164.Select the option that is related to the third word in the same way as the second word is related 
to the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word.) 
Bees : Swarm :: Monkeys : ?
A. Troop
B. Colony
C. Shoal
D. Herd
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165.Select the option that is related to the third word in the same way as the second word is related 
to the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word.)  
Calf : Cattle :: Foal : ?
A. Elephant
B. Horse
C. Deer
D. Kangaroo
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166.Select the set in which the numbers are related in the same way as are the numbers of the 
following sets. 
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed) 
(9, 343, 2) 
(12, 729, 3)
A. (98, 49, 92)
B. (13, 4, 89)
C. (12, 66, 20)
D. (12, 125, 7)
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167.Select the set in which the numbers are related in the same way as are the numbers of the 
following sets. 
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed)
(3, 16, 6)
(4, 22, 6)
A. (12, 50, 5)
B. (9, 70, 8)
C. (7, 43, 6)
D. (9, 10, 11)
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168.Select the set in which the numbers are related in the same way as are the numbers of the given 
set.  
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13 - Operations on 13 such as adding /subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not 
allowed.) 
(4, 7, 165) 
(14, 26, 600)
A. (23, 29, 567)
B. (5, 19, 225)
C. (3, 6, 135)
D. (17, 6, 325)
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169.In the following question, four number pairs are given. In each pair the number on left side of (-) 
is related to the number of the right side of (-) with some Logic/Rule/Relation. Three pairs are 
similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.  
(NOTE: Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. E.g.13 - Operations on 13 such as adding /subtracting /
multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3 and then performing 
mathematical operations on 1 and 3 is not allowed)
A. 22-40
B. 24-47
C. 18-35
D. 16-31
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170.Select the option that is related to the third word in the same way as the second word is related to 
the first word. 
(The words must be considered as meaningful English words and must not be related to each 
other based on the number of letters/number of consonants/vowels in the word.)
Flock : Birds :: Swarm : ?
A. Rain
B. Bees
C. Trees
D. Flowers
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171.Select the set in which the numbers are related in the same way as are the numbers of the 
following set. 
(5, 2, 23) 
(6, 2, 34) 
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. E.g. 13 - Operations on 13 such as adding /subtracting / 
multiplying etc. to 13 can be performed. Breaking down 13 into 1 and 3 and then performing 
mathematical operations on 1 and 3 is NOT allowed)
A. (3, 3, 3)
B. (3, 2, 9)
C. (3, 5, 11)
D. (3, 2, 7)
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172.Select the option that is related to the third word in the same way as the second word is related to 
the first word. (The words must be considered as meaningful English words and must not be 
related to each other based on the number of letters/number of consonants/vowels in the word) 
Drama : Stage :: Trial : ?
A. Police station
B. Jail
C. Platform
D. Court
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173.Select the set in which the numbers are related in the same way as are the numbers of the 
following sets.  
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13 - Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not 
allowed) 
(60, 17, 13) 
(62, 14, 17)
A. (56, 15, 13)
B. (43, 9, 12)
C. (55, 18, 9)
D. (57, 15, 14)



Analogy

REASONING & GENERAL INTELLIGENCE

SSC CGL  
Tier-1

13 Dec, 2022 
Shift 4 (5:30-6:30 

pm)

174.Select the option that is related to the fifth letter-cluster in the same way as the second letter-
cluster is related to the first lettercluster and the fourth letter-cluster is related to the third letter-
cluster.
ABILITY : LIBAYTI :: CHRONIC : ORHCCIN :: HEAVILY : ?
A. VAEHYLI
B. HAVIEYL
C. AEVHLYI
D. LYIAVHE
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175.Select the set in which the numbers are related in the same way as are the numbers of the 
following sets. 
(NOTE : Operations should be performed on the whole numbers, without breaking down the 
numbers into its constituent digits. 
E.g. 13 - Operations on 13 such as adding / subtracting / multiplying etc. to 13 can be performed. 
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is NOT 
allowed)
(4, 6, 9)
(25, 10, 4)
A. (23, 3, 32)
B. (45, 20, 19)
C. (6, 36, 216)
D. (98, 7, 89)
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176.Select the option that is related to the fifth letter-cluster in the same way as the second letter-
cluster is related to the first lettercluster and the fourth letter-cluster is related to the third letter-
cluster.
LAMP : RQGT :: GAME : GQGO :: GOAT : ?
A. OUEV
B. EVUO
C. VEUO
D. ACDF


